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Risolvi le seguenti equivalenze.

1,248 dag = ................... g

1417 g = ................... Kg

129,4 Hg = ................... dag

0,1275 t = ................... Kg

428,1 Hg = ................... dag

29,26 Kg = ................... dag

32,83 Mg = ................... Hg

1,258 Kg = ................... Mg

2174 dag = ................... Mg

133 dag = ................... Hg

465,2 mg = ................... cg

135,7 mg = ................... g

0,306 Hg = ................... dg

2398 Hg = ................... Mg

48,03 q = ................... t

0,257 Mg = ................... Kg

29,05 Kg = ................... q

2789 mg = ................... g

1,943 Mg = ................... dag

0,3748 t = ................... Kg
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1471 Hg = ................... q

142,5 mg = ................... g

405,2 Hg = ................... dag

0,2465 t = ................... Kg

18,3 g = ................... Hg

45,76 dag = ................... Kg

3398 mg = ................... g

340,8 cg = ................... dag

400,8 mg = ................... dg

3,056 Kg = ................... Mg
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Soluzioni

1,248 dag = 12,48 g

1417 g = 1,417 Kg

129,4 Hg = 1294 dag

0,1275 t = 127,5 Kg

428,1 Hg = 4281 dag

29,26 Kg = 2926 dag

32,83 Mg = 3283 Hg

1,258 Kg = 0,1258 Mg

2174 dag = 2,174 Mg

133 dag = 13,3 Hg

465,2 mg = 46,52 cg

135,7 mg = 0,1357 g

0,306 Hg = 306 dg

2398 Hg = 23,98 Mg

48,03 q = 4,803 t

0,257 Mg = 2,57 Kg

29,05 Kg = 0,2905 q

2789 mg = 2,789 g

1,943 Mg = 1943 dag

0,3748 t = 374,8 Kg

1471 Hg = 1,471 q
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142,5 mg = 0,1425 g

405,2 Hg = 4052 dag

0,2465 t = 246,5 Kg

18,3 g = 0,183 Hg

45,76 dag = 0,4576 Kg

3398 mg = 3,398 g

340,8 cg = 0,3408 dag

400,8 mg = 4,008 dg

3,056 Kg = 0,3056 Mg


